Naive algorithm

x luxtpxtdgwtdxtpxtsyxtpxtdy
x t px td

T

Align both strings at their beginning position and begin

comparing

Comparisons: 1



Naive algorithm

luxtpxtdgwtdxtpxtsyxtpxtdy
t pxtd

T

If symbols match, compare the next symbols in both P
and T

Comparisons: 2



Naive algorithm

x luxtpxtdgwtdxtpxtsyxtpxtdy
x t px td

T

If symbols don’t match, advance P by one position and

begin comparing from beginning of P

Comparisons: 3



Naive algorithm

x luxtpxtdgwtdxtpxtsyxtpxtdy
Xx t px td

T

If symbols don’t match, advance P by one position and

begin comparing from beginning of P

Comparisons: 4



Naive algorithm

x luxtpxtdgwtdxtpxtsyxtpxtdy
Xx t px td

T

If symbols don’t match, advance P by one position and

begin comparing from beginning of P

Comparisons: 5



X

Naive algorithm

luxtpxtdgwtdxtpxtsyxtpxtdy

X/t px td
T

If symbols match, compare the next symbols in both P
and T

Comparisons: 6



X

Naive algorithm

luxtlpxtdgwtdxtpxtsyxtpxtdy

Xx tipx td
/]\

If symbols match, compare the next symbols in both P
and T

Comparisons: 7



X

Naive algorithm

lux tpxtdgwtdxtpxtsyxtpxtdy

x t px td
T

If symbols match, compare the next symbols in both P
and T

Comparisons: 8



X

Naive algorithm

lux tpxjftdgwtdxtpxtsyxtpxtdy

x t px|td
T

If symbols match, compare the next symbols in both P
and T

Comparisons: 9



X

Naive algorithm

lux tpxtidgwtdxtpxtsyxtpxtdy

x t px tid
T

If symbols match, compare the next symbols in both P
and T

Comparisons: 10



X

Naive algorithm

lux tpxtdigwtdxtpxtsyxtpxtdy

x tpxtd
T

When full match is found, mark P as found in 7T, ad-

vance P by one and compare from beginning of P

Comparisons: 11



X

Naive algorithm

lux tpxtdigwtdxtpxtsyxtpxtdy

X t pxtd

/]\

If symbols don’t match, advance P by one position and

begin comparing from beginning of P

Comparisons: 12



X

Naive algorithm

lux tpxtdigwtdxtpxtsyxtpxtdy

x tpx td
T

If symbols don’t match, advance P by one position and

begin comparing from beginning of P

Comparisons: 13



X

Naive algorithm

lux tpx{ftdjgwtdxtpxtsyxtpxtdy

xt px td
T

If symbols match, compare the next symbols in both P
and T

Comparisons: 14



X

Naive algorithm

lux tpxtidijgwtdxtpxtsyxtpxtdy

Xx tilpx td
T

If symbols match, compare the next symbols in both P
and T

Comparisons: 15



X

Naive algorithm

lux tpxtdigwtdxtpxtsyxtpxtdy

x tpxtd
T

If symbols don’t match, advance P by one position and

begin comparing from beginning of P

Comparisons: 16



X

Naive algorithm

lux tpxtdigwtdxtpxtsyxtpxtdy

X t pxtd

T

If symbols don’t match, advance P by one position and

begin comparing from beginning of P

Comparisons: 17



X

Naive algorithm

lux tpxtdigwtdxtpxtsyxtpxtdy

X t px td
T

If symbols don’t match, advance P by one position and

begin comparing from beginning of P

Comparisons: 18



X

Naive algorithm

lux tpxtdigwtdxtpxtsyxtpxtdy

X tpxtd
T

If symbols don’t match, advance P by one position and

begin comparing from beginning of P

Comparisons: 19



X

Naive algorithm

lux tpxtdigwtdxtpxtsyxtpxtdy

Xt pxtd

T

If symbols don’t match, advance P by one position and

begin comparing from beginning of P

Comparisons: 20



X

Naive algorithm

lux tpxtdigwtdxtpxtsyxtpxtdy

Xt px td
T

If symbols don’t match, advance P by one position and

begin comparing from beginning of P

Comparisons: 21



X

Naive algorithm

lux tpxtdigwtdxtpxtsyxtpxtdy

x t px td
T

If symbols don’t match, advance P by one position and

begin comparing from beginning of P

Comparisons: 22



X

Naive algorithm

luxtpxtd

qwtd

tpxtsyxtpxtdy
t pxtd
T

If symbols match, compare the next symbols in both P

and T

Comparisons: 23



X

Naive algorithm

luxtpxtd

qwtd

pXtsyxtpxtdy
pxtd
T

If symbols match, compare the next symbols in both P

and T

Comparisons: 24



X

Naive algorithm

luxtpxtd

qwtd

X tp
X tp

Xt syxtpxtdy
x t d

T

If symbols match, compare the next symbols in both P

and T

Comparisons: 25



X

Naive algorithm

luxtpxtd

qwtd

X Ut pX
X U pX

t syxtpxtdy
t d
/]\

If symbols match, compare the next symbols in both P

and T

Comparisons: 26



X

Naive algorithm

luxtpxtd

qwtd

Xt pxt
Xt pxt

s yxtpxtdy
d
T

If symbols match, compare the next symbols in both P

and T

Comparisons: 27



X

Naive algorithm

lux tpxtdigwtdxtpxtsyxtpxtdy

Xt pxtd

T

If symbols don’t match, advance P by one position and

begin comparing from beginning of P

Comparisons: 28



X

Naive algorithm

lux tpxtdigwtdxtpxtsyxtpxtdy

Xx t px td
T

If symbols don’t match, advance P by one position and

begin comparing from beginning of P

Comparisons: 29



X

Naive algorithm

lux tpxtdigwtdxtpxtsyxtpxtdy

x t px td
T

If symbols don’t match, advance P by one position and

begin comparing from beginning of P

Comparisons: 30



X

Naive algorithm

luxtpxtd

qwtdzxtpx

t syxtpxtdy
t pxtd
T

If symbols match, compare the next symbols in both P

and T

Comparisons: 31



X

Naive algorithm

luxtpxtd

qwtdzxtpx

s yxtpxtdy
pxtd
T

If symbols match, compare the next symbols in both P

and T

Comparisons: 32



X

Naive algorithm

lux tpxtdigwtdxtpxtsyxtpxtdy

X t px td

/]\

If symbols don’t match, advance P by one position and

begin comparing from beginning of P

Comparisons: 33



X

Naive algorithm

lux tpxtdigwtdxtpxtsyxtpxtdy

Xx t pxtd
T

If symbols don’t match, advance P by one position and

begin comparing from beginning of P

Comparisons: 34



X

Naive algorithm

lux tpxtdigwtdxtpxtsyxtpxtdy

x t px td
T

If symbols don’t match, advance P by one position and

begin comparing from beginning of P

Comparisons: 35



X

Naive algorithm

lux tpxtdigwtdxtpxtsyxtpxtdy

x t pxtd
T

If symbols don’t match, advance P by one position and

begin comparing from beginning of P

Comparisons: 36



X

Naive algorithm

luxtpxtd

qgwitdxtpxtsy

t px tdy
t px td
T

If symbols match, compare the next symbols in both P

and T

Comparisons: 37



X

Naive algorithm

luxtpxtd

qgwitdxtpxtsy

px tdy
p x td

T

If symbols match, compare the next symbols in both P

and T

Comparisons: 38



X

Naive algorithm

luxtpxtd

qgwitdxtpxtsy

X tp
X tp

x tdy
x td

T

If symbols match, compare the next symbols in both P

and T

Comparisons: 39



X

Naive algorithm

luxtpxtd

qgwitdxtpxtsy

X Ut pX
X t p X

t dy
t d

/]\

If symbols match, compare the next symbols in both P

and T

Comparisons: 40



X

Naive algorithm

lux tpxtdigwtdxtpxtsyxtpxtidy

x t px tid

If symbols match, compare the next symbols in both P
and T

Comparisons: 41



X

Naive algorithm

lux tpxtdigwtdxtpxtsy/xtpxtdly

x tpxtd
/]\

When full match is found, mark P as found in 7T, ad-

vance P by one and compare from beginning of P
Comparisons: 42

Finish when P should be advanced, but 1s right aligned with T’



